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1.

The pure silver “rupiya” was issued by

(A) Akbar (B) Shershah
(C) Jahangir (D) Aurangzeb
(& T T F AR ey R 7
(A) el (B) vrtumE
(C) ety (D) ¥
Match the following texts with their authors and select the correct option :
a) Haqaig-i-Hindi i} Ibn Miskawayh
b) Tahdhibul Akhlag i) Sadruddin Muhammad “Aufi®
c) Kunzal Tijar iii) Abdul Wahid Bilgrami
d) Jawamiul Hikayat iv) Bailag al Qabayaki
(A) a—iii  b—j C—iv d-ii
(B) a—ii b-iv c¢-—j d —iii
(C) a—-iii b-i c—ii d—iv
(D) a-—i b—ii  c—iii d-iv
ﬁﬂ%ﬁﬁﬂ?ﬁﬁ?ﬁﬁ#ﬁ@%ﬁﬂﬁfﬁﬁﬂ%ﬂﬁ?ﬁﬁﬁﬂ F g
a) w5 i) 3= Tt
b) desige snEe i) wawEH yerme ey
c) Fua foem iii) a5 aifez farerm
d) Sarfsa feFmam iv) FFF HA FAEE
(A) a-ii b-i c—iv d—ii
(B) a-ii  b-iv c—i  d—ii
(CYa—ii b-i c—ii d-iv
(D) a—i b—ii  c—ii d-iv
The princely state of Baghat was annexed to the British in
(A) 1848 (B) 1850
(C) 1852 (D) 1853
FuTd fearaa #1 fada o faem == et ?
(A) 1848 (B] 1850 |
(C) 1852 (D) 1853

LTI TR F (T
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4. Who among the fclliowing participated in the Salt Satyagraha of Gandhi ?

(A) Sarojini Naidu (B) Rajkurnan Amrit Kaur
(C) Kamladevi Chattopadhyaya (D} Al of these
Fafafaa 4 5 s nidish & s s@ms 8 g T ?

(A) sl g, (B} TSEFAE i

(C) Fwenddl T (D) 3ufea o & weft

5. Underwhich Article of the Constitution of India, Taxes are levied and collected by the centre
but distributed between the centre and the States ?
(A) Article 268
(B) Article 269
(C) Article 270
(D} Article 271
e 3 AT 7 e = U il #1 5 g et asn uef TR ST 2 Sifpa g R Tl
% = faatra o wia 2 7
(A) =% 288
(B) #g=de 289
() == 270
(D) ¥FF=e 271

6. Which of the following is not a feature of good governance ?
(A) Accountability ./
(B) Transparency
(C) Rule of Law
(D) Red Tapism
for & @ 1 g A7 fadhen 7 2 7
(A) SR
(B) grefil
(Cy g & Fam

(D) =T fareer
Set-C



e vttt an nr ars e e ve s s |
o rejected the ‘Principles of Administration as myths and proverbs' ?
{A) Herbert Simon
(B) Dwight Waldo
(C) Frank Marini

uo -1

(D) F.W.Riggs
ﬁqﬁaﬁxﬁﬁﬁf%mﬁmﬂ%ﬁqmlmﬁma sFn fFm g 7
(A) & a5
(B) =amE aAresl
(C) & Hfei
(D) T®. Z=cy, fem
8. /"The State is everywhere - i| leaves hardly a gap ' This slatement explains the concepl of

(A) Welfare State (B} Communist State

(C) Democratic State (D} Pohce State
TR RCE R ¢ TR IR Tz A e > e e e T ) smEn s 7
(A) FWFH T (By auyfaze i

(C) rwaifa= ey (D) gfem 1

8. Poisonous mustard gasis a

AA) Gas (8} Liquid

(C) Solid (C) None of the above
forram med w4 2

(A) e (B) za

(C) I (D) I & § F

10,/ The chemical used in manufacturing of dynamite is
(A Glycerol (B) Glycerol triacetate
(€) Glycerol trinitrate (D) Glycerol triiodate




r“mm--r--m-' B T e
41. What percentage of alcohol in human blood causes death 2

(A) 2.0 (B) 3.0
(C) 5.0 (D) 7.0
a7 1 seshiEd i fora e A 9T 1 F g R 7
(A) 2.0 (B) 3.0
_(g) 50 (D) 7.0

12 The term Information Technology can be defined as
(A} Computers + Conneclivity
@f Computers + Network
(C) Hardware + Software
(D) Connectivity + Hardware
e Wi et afenfid @ T 7
(A) Frged + Ffacfadl

(B) wrgzd + ¥Ta
(C) EEasH + ATRET
(D) TR + Trddew

13. . Which litterateur has published the Khortha Compilations namely ‘Meghdoot’ ?

‘/(A) Bhuvaneshwar Dutt Sharma “Vyakul’
(B) A.K.Jha
(C) Naresh Prasad Singh «"
(D) Srinivas Panuri
eI CIR C ik 2 B At £ R G mﬂﬁ:"ﬂwﬁm ¥
(A) Warar d yEl e
(B) w.%. 7
(C) w yar fae

(D) fifara ggd E
- et-c:



‘Rijgarh’ In Munda GG 18 To1a13 6 which Biace 7

14,
(A) Rohtasgarh (B) Beejangarh
(C) Paligarh (D) Rajgir
a1 I H e’ e wuer & defag 27
(AY/ e (B) TR
(C) g (D) TERfR

15. What is Friendship — 2016 7
(A) The joint military exercise by the soldiers of Russia and Pakistan

(B) The joint military exercise by the scidiers of America and India

(C) The joint military exercise by the seldiers of India and Afghanistan
(D) The joint military exercise by the soldiers of India and Kajhakhastan
HEf¥Y — 2016 TR 7

(8] & SR T 5 A T fe FIF JEITH |

(B) ¥ s wid & Afei gm0 e A g |

(C) =re 3 smEmfT & P 310 B T wigaa gy

(D) R 3t Fseareara % St g0 o man i gy |

16. Where was the 14" ASEAN-India Summit organised 7

(A) Vientiane (B) Islamabad

(C) Dhaka (D) Daves
Mﬁmﬁfﬂmwﬂﬁﬁn@twﬁaﬂwmﬁqmﬁﬁwwm?
(A) Tfm (B) T
(C) &1 (D) =rEtd

17. Where is the headquarter of the United Nations Environment Programme (UNEP) ?
(B) Nairabi

(A) The Hague
(D} Washington D.C.

(C) New York
TR U Tl FrRiE (UNEP) 1 36Ted Fa 2 7

(A) Tem JdB] s

(C) =g (D) =rfime & .4,



1B. Deepika Pallikal is related to which sport ?

(A} Sgquash (B) Handball
(C) Badminton (D) Tennis
Hfoar Teelisd fore @ 8 FEfm 2 7
(o = (B) Fsar
(C) dsfe (D)
19. Velodrome is related to which sport 7
(A) Tennis (B) Fencing
(C) Boxing (D) Cycling
e fre @a € ety & 7
(A) 2 AB} T
(C) gFhasl (D) =gt
20. ‘Sanghmitra Kalita' has been honoured with which award recently 7
(A) Pulitzer Award (B) Bookers Award
(C) Gyanpeeth Award (D) The Legion of Honour
et T 1 2 2 8 e s @ gt R d
(A) gferr a7 (B) T wmare
(C) T3 e (P) = S 3 T
21. The “Pakistan Resolution” was drafted by
(A) Rehmat Ali (B) Sikandar Hayat Khan
(C} Muhammad Ali Jinnah (D) Fazlul Haque
““qrf weaTa | &) w7
AT A (B) firehet e @i
('Cj)j HEeTE a7t R (D) T
b .
22. The British Monarch at the time of [ndian Independence was .
(A) George V (B) George VI
(C) King Edward VII (D) None of these
WIRE I Taciaiel] o @AY TS AR o0
4A) el oem (B) Wl TH

(C) T vgad wwm (D) 3 # A g T
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‘;5 Mountbatten Plan (June 1847) provided for a referendum in which of the following

proVil‘!CE{S} ?

(A) Sindh

(B) Baluchistan ‘

(C) North-West Frontier Province

(D) All of these
TRHE A (7 1947) F Forfiifirs # 4 g (FRa) siia (wrieih) # ot favbare w1 o 7
(A) fau
(B) afewm
(C) Im-ufram dinig wig
D) 9w A & auh
24, Which of the following pair is not carrectly matched ?
(A) Total area of india - 3.28 Million $q.km.

(B} Latitudinal extent — 84" N _ 37°6"N
(C) Longitudinal extent - 68°7'E _ g97°25'E
(D} Number of states in india — 25

Frfefea <iet § & =5 @ srer ot agi 8
(A} T 1 5 et ~ 3.28 fifersy af freinfior
(B) ¥ = weivity fem - geq” 3.3 g70 3.
(C) et 1 Ywgisfi faem - 687" g, 97°25'7,
(B} e A ol Y dwm - o
25. In which Report of the Second Administrative Reforms Commission barriers of Good

Governance in India have been identified 7

(A) 'Ethics in Governance'
(B) 'Citizen-Centric Administration : The Heart of Governance'

(C) 'Promoting E-Governance'
(D) ‘Local Governance’

Wﬁmﬁa%ﬁﬁqmyﬁéﬁﬁwﬁmﬁwaﬁﬁwﬁ%?
(A) e & Sy’

B ‘W—%@HW:WWW’

(C) $-wrem = vy’

() ‘st wrgy



" . Underwhich Article of thbRIBFrESISIIOITIS UistHEF8niflg Commitiee coMsues -

: (A) Afticle 243 ZD (B) Article 244 ZD
(C) Aticle 242 ZD (D) Article 243 ZE
i GEH F A & TR 1 e A wfud e v 2
w/g@?@ﬂ 243 ZD (B) am=wa 244 7D
(C) #ig=da 242 ZD (D) wF=37 243 ZE
p7. Match the following :
List—1 List—1
(Year) (Committee)
1) 1849 — 51 a) Local Finance Enquiry Committee
2) 1953 - 54 b) Taxation Enguiry Commission
3) 1863 —66 ¢) Rural-Urban Relationship Committee
4) 1985 —88 d) National Commission on Urbanisation
Codes :
1 2 3 4
(A) a b g d
(B) b & d a
(C) c d a b
D) d c b a
Hifgar R0
Tt - | =t -1
() e
1) 1949 — 51 a) T fam i wffa
2) 1953 - 54 by I STl ST
3) 1963 — 66 o) Twfm-Ed e Wi
4) 1985 - 88 d) SR WA A
[ T
1 2 3 4
(A) a b c d
(B) b & d a
Mlad. o o
(D) d c b a

Set-C



The recommendalor &rine-F4- " +inarce ComMmission'ior increase the share of net
28. | :

29.

30.

31.

proceeds of union taxes between centre to states has been fixed at

(A) 32 percent
(B) 37 percent
(C)} 42 percent
(D) 41 percent

ﬂeﬁﬁﬁa@ﬁMﬁ%WHq{Waaﬁﬁ%@mmw%w, %% 4 U3 & WA gfa F ferw

Fifewa T 2
(A) 32 Wit
ug{ 37 wierwrd
(C) 42 vl
(D) 41 yfdsra

How many bits are there in a kilcbyte 7

(A) 1024 (B) 1000
(C) 8024 (D) 8192
e faeitarse # fife foow 65 8 7

4&ﬁ 1024 (B) 1000
(C} 8024 (D) 8192

Which of the following is not an output device ?

(A} Manitor {B) Touchscreen
(C) Printer (D) Plotter

Firfefas 3 & %17 snaepe famm o 2 7

(A) At (B) Tuepm

(€) firz b) wiia

Which of the following is not an open source software ?

(A) Internet explorer (B) Google chrome
{f Linux (D) Open office
ﬁpfﬁ*rﬁgaffﬁai’ﬁ"—rt{ai 37T = alyedon 7 2 7

(A) T2z v (B) e wiy

(©) ferag (D) ¥ sifeg



”“”H [T LR
den Rice contains B-carotene yers winsi eomes 1em

a2y The Gol

(a) Carrot (B) Daffodil
(C) Beetroot (D} Papaya
wmﬁﬁﬁw—ﬁrmaﬁﬁaﬁ@ e 7
(A) TSR (B} =wifza
(C) TF = (D) T

s first private fight plan to go on the moen 2
(BY Moon Flight
(2} Moon Mall

q3. What is the name of the world
(A) Meen Express
(C) Chandrayaan
Wﬂﬁ%ﬁgﬁmﬁﬁﬂmﬁﬁwﬁzmmqp

(A) gqmﬁm (B) T TR
(D) 43 Ad

94  Afghanistan’s First Lady Geveror is
(A) Malaia Y usufjahi
(C) Farida Sheikh

(R} Masooma Muradi
(D} Chand Usman

spmire & geefi AfEc AT B
() T e (B) AT HE
(C) W TE (D) =z 3Tl
35 The country Tuvaiu participated with how many members in the Rio Olympics ?
(A) B (B} 3
cy 1 (D) 9
Waﬁﬁwﬁmmﬁﬁaﬁaﬁ;ﬁmﬁﬁémﬁﬁm%mm?
{A) 5 (B) 3
(CF 1 (D) 9
36. Where was the World Economic Forum Meet-2016, crganised ?
| (A) Switzerland (B) Laos
| ([C) Austria (D) France
| ﬁﬁaﬂﬁiﬂamﬁaﬁ-zom(WEF}aﬁﬁmw?ﬁﬁgﬁ?
‘| (A) stz ) F
G v (D} wid
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GS -1 o |
q7. 'Navnathan Pillai" has been honoured with which award 7

38.

39,

(B} Pulitzer Award

(A) Bookers Award
(D) The Legion of Honour

(C} Oscar Award
‘T fieerd & Y saE @ gmfe o 2 7
4‘9{ g a7

(A) g 1T

(C) A= HIE (D} & &l AF 5

Where is the National Center for Disaster Management (NCDM) located ?
(A) Nagpur (B) New Delhi

(C) Hyderabad (D) Pune

A H R fewrer ez (NCDM) Faf o 2 7

(A) T (B Reeh

{C) garane (D) g

When did the Prime Minister Narendra Modi launch National Disaster Management Plar
(NDMP) 7

(A) 1% June (B) 2% June
(C) 39 June (D) 1% May

ST A7 B 3 T - ey (NDMP) & s = 7
OREC B) 2%

O 3w (D) 1

The cyciic poor are those

(A) Who always remain poor

(B) Who continucusly shuffle between being poor and non-poor
(C) Who moestly remain flon-poor but sometimes they become poor
(D) Al of the above |
Tt g 3 8

(A) S e feds g

B) < i Pk o e ok g 3 |

Mﬁmmaﬂmﬁ%,mw—mﬁﬁqmﬂ%l

) 3wz gt
12 3&{.{:



41.

42.

43.

Name the place in India where Bay of Bengal, Arabian sea and Indian Ocean meet.

(A) Kanyakumari (B} Indira Point

(C) Nagarkoel (D) Rameshwaram
ST &1 9 I W EUT & Sl s ) @i, 3 q A frg sereer frew @ 7
(A) FAFA (B) 3fm iz

(g) TS (D) Trway,

Where does India rank in area among the countries of the world ?
(A) Fifth (B) Sixth

(C) Seventh (D) Eighth
Srorcee 1 g & W w1 T % 20 0 S W R e

(A) ur=E (B) ®al

) amadi (Dy am=at

Consider the following relief features .
1) Mahadev Range

2) Maikal Range

3) Chhotanagpur Plateau

4) Khasi Hills

The correct west to eastward sequence of the above relief features is
(A) 1,2,3,4 (B) 4,321
(C) 2,3, 4,1 (D) 1,3,2,4
Fraferfiag FeaTad A T e A

1) werRa wea FEEn

2) ATl Ed FaT

3) Bt AL T8N

4) @t o vertgal
mﬁmﬁﬂmﬁiﬂmwﬁ%ﬂﬁr@aﬁaﬁnﬁ%@ﬁwm :
Ay 1,2,3,4 (B) 4,3,2,1

(D) 1,3,2 4

(C) 2,3,4,1
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44, Which one of the following pair is correctly matched ?

[T

Rivers States
(A) Indravati Jharkhand
(B) Bhima Tamil Nadu
(C) Luni Rajasthan
(D) Ghatprabha Kerala
freferfia & |5 9 ' oA ud 2 7
(A), garadi TG
QB( il AfterTrg
W) = VT
(D) = e

45.  National Green Tribunal (NGT) was established by the Government of India in

46.

M?GDB (B) 2009

(C) 2010 (D) 2011
et A oA (011,21 sima wreEn gm venfie fr o o
(A) 2008 (B) 2009
15 oG (D) 2011

Which of the following is not true for India to combat the adverse impact of Climate Change ?
(A) Establishment of Clean Development Mechanism {CDM)

(B) Investment of Rs. 100 crores as an initial COrpus under
(C) Not attended the 19 Meeting of BASIC at Sun City, Sg

National Adaptation Fund

uth Africa heg|
(D) Al the above are trye d recently

m%ﬁﬁﬁﬁﬁ%ﬁaﬂﬁﬁqmmmmwﬁaﬁq%
(A) WW%(CDM}@%@W
(B) Tt vermvm v % aiaia 100 538 %, ¢

S & Food o gy R 2 7
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47. Match List— I with List -1l and select the correct answer using the codes given pelow

the lists :

List=1

a) Inequality Re-examined

b) The Price of Inequality

c) Inequality : what can be done

d) The Economics of Inequality

List—1I
1) Joseph E. Stiglitz
ii} Thomas Piketty
1) Amartya Sen

iv) Anthony B. Atkinson

& - | Y g - 1 F gaferd = s AR foe gu gl 8 @ T I =

Codes :
a b c d
(A) v i i
BT i v i i
©) i i i v
(D) i i iv I~
=T - |
a) el f-wasis
b) = WrEq AT hrEEerel

(B)
(C)
(D)

io-
i

iii

iii
iv

iv

15 0

et - 1l
i) s 3. fRfers
iy gt fehedt
i) el W=
iv) o o wefehme

Set-0
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48. Match List—1and List— 1! and select the correct answer ;

List-1
a) Chakravarty Committee
b) Narasimham Committee
¢} Tendulkar Committee
d) Chelliah Committee
Codes :

a b ¢ d
(A) i i i iv
(B) v i ifi i
(C) i ifi iv i
(D) i v ii i

List—|I
i) Tax Reforms
) Poverty Estimation
ity Banking Sector Reforms

iv}) Financial Sector Reforms

@-Jﬁqpﬁ-llﬁgﬁ%aﬁafﬂﬁmmmﬁ

Th-|
a) <Rl wiafy
b) ffen ufify
¢) AgerR afify
d) =k gfify

B v i
& i oo

O gy 0| i

q= - |
i) W guw
N} T4k ey
ili) &fsm 1 gur
iv) féﬁ"ma}aﬁgm

16
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49. Panch Dhara Yojana is related to

50.

(A) River Water Management

(B) Women Welfare and Development

(C) LPG Distribution

(D) Underground Water Management
(A T @ e

(B) A e ud fowrg @

(C) v, s, fameor @

(D) EI T

White Bud disease in plant is caused by deficiency of

(A) Zinc
(C) Boron
il & a5 mg I el I B ET R ¢

JA) Fom
(C) =4

1,/ White colour of milk is due tc

oz,

[

J
(A) Casein

(C) Lactose
74 F1 Gg T T 8
(A) ¥ @

(C) d%= ¥ t/

The web portal DACNET is related to
(A) e-Agriculture

(C) e-Business

39 drfa DACNET & 2

(A) 3-wiheat ®

(C) 3-frem @

(B) Copper
(D) Manganese

-

(B) FTm
(D) T

(B) Albumin
(D) Globulin

(B) wwafE |
(D) =geH ¥

(B) e-Commerce
(D) e-Logistics

S 3-wmd @
(D) g-wnfufews &

P
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53. World's first country to have cashless economy

(A) Canada 5 Swe#?n
(C) France iy Belgium
fava &1 wom Fvrera srsferamen s 2y

(A) 7 ® e
(C) wia (D) sifcsam

54.  Who was the youngest Athlete at the
(A) Deepa Karmakar
(C) Gaurika Singh

ﬁﬁrﬁr%ﬁwaﬁaa@rgmq%ﬁaﬁnﬂ?

) & (B) a=hfim dwn
(C) itfrr fie

(D) ufiedlt diatey

Rio Olympics 7
(B) Virginia Thrasher
(D) Emily Seebohn

55, According to the Rural Cleanii
cleanliness is concerned ?

(A) Jharkhand

ness Survey, which state is at the top of ladder as far as

(B) Sikkim
(C) Kerala (D) Telengana
mﬁmm@mﬁw%a@nﬁﬁm%mﬁﬁ IR EE W e R 7
(A) FmEvs ) e
C) ¥ (D) Hemmr
56. ‘Gatiman Express’, the fastest Indian train on 4™ April, 2015 ran from
(A) New Delhi to Lucknow

(B) Hazrat Nizamuddin to Agra

(C) Delni to Chandigarh
(D) Mumbaij tg Pune

ﬁﬁﬁﬁﬁﬁfﬁ@ﬂﬁ%ﬁﬁéﬂ‘“ﬁmﬂmﬂﬂ’,dm 2016 1 gl et -
7 Reehl & g gm e vt}

}Eﬁmﬁﬁmﬂqﬁaﬂm?ﬁ;

(C) Rt & sy o

() 57 3 g e

18
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57’/ Disguised unemployment means
/ (A) Unemployment resulting from change in mchnoiogy

(B) Fall in productivity of labour
(C) Marginal productivity of labour is zero
(D) People in large numbers remaining unemployed
(A) FFATR] & aftEda 8 309~ St Wt
(B) %M =) Ieqaskdl 1 FH £
(C) = = TTa IeqTEFAT T B

(D) €I TETE A @ F ST A

‘Rajiv Awas Yojana (RAY)' that was started in 2011 has been granted extension till

58.
~—///1A} 2016 (B) 2020

(C} 2021 (D) 2022 k///X

Jrstia sETE i S 2011 6 9E o e eff, 38 o ek ok oo, foeia e e ®
(A) 2016 (B) 2020
(C) 2021 (D) 2022

59. United Nations Organisation (U.N.C.) is celebrating 2016 as the
(A) International Co-operative Year
(B) International Youth Year
(C) International Bio-diversity Year

(D) International Pulses Year
2616%?@@@%@%&@13%%@% 7
(A) sFariedr geafie ad
(B) sfeiefma Fan &
A8y simiedy 33 fafauar ad

(D) s geteq ad
19 Set-C
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60.

61.

62,

63.

Who is 195" member of UNESCO ?
(B} Kazhakhisthan

(A) Palestine
(C) Croatia (D} South Sudan
e (UNESCO) #1 195 af geg &l & 7

(A) aifre (B) e

(C) wiefmn (DY 2fémr g

The biggest Harappan site in India is

(A) Rakhigarhi (B) Dholavira

(C) Kalibangan (D) Lothal

W H TSWT I g7 ta &

(A} TErTE (B) wierdm

(C)/ Fretieima (D) e

The Rigvedic tribal assembly associated with judicial function was
(A} Sabha (B) Samiti

(C) Vidhata (D) All of these
FRARF T W1 S =0T T Y e oft

(A) T (B whi

(C) e (D) w7 & @ wuf
“Yamaka” belongs to the Buddhist “Pitaka”

(A) Sutta (B) Vinaya

(€) Abhidhamma (D) None of these
T g e & e 2

W) o ®) form

(C) iy P T 8

20
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60.

61.

62.

63.

Who is 195" member of UNESCO 7

(A) Palestine (B) Kazhakhisthan
(C) Croatia (D)} South Sudan
g (UNESCO) #1195 af ey w3 2 7

(A) qifeFe (B) FeimiEeaH

(€) Frefiwn (D e gem

The biggest Harappan site in India ig

(A) Rakhigarhi (B) Dholavira

(C) Kalibangan (D) Lothal

WRA A W1 %1 g8 o &

(A) Tt (B) wierdta
(C)/reftsm (D) e

The Rigvedic tribal assembly associated with judicial function was
(A) Sabha (B) Samiti

(C) Vidhata (D) All of these
FAF 5 g1 S =fren et & waf of

(A) & (B} affy

(C) e (D) Tvfwa # § wof
“Yamaka" belongs to the Buddhist “Pitaka”

(A) Sutta (B) Vinaya

(©) Abhidhamma (D) None of these
T g% e & e 2

W ®) frm
s I et 4 vt g

B Set-C
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64. The Chinese Pilgrim who visited India in the early g century was

(A) Ywan Chwang
(C) Sung Yun

(B) Fahien
(D) I-tsing

<) et Fred o wared) 1 A g9 T

(A) amﬁ'ﬁ
(C) g1 3

JB) wifene
(D) zmgfem

65.

Average annual rainfall range in Jharkhand is
(A) Between 60 to 100 cms
(B) 100 to 200 cms
(C) 200to 300 cms
(D) More than 300 cms
FrEve | anfie aul S
(A) 60 @ 100 F-dHiet & meA
100 # 200 HEnfz = #e

(

)
(C) 200 # 300 #-dmier & He
D) 300 Bt # wHfae

66. Which one of the following pair is not correctly maiched ?

Important Resources

Area
(A) Kolhan Mineral Resources
(B) Kutch Forest Resources

(C) Malabar Coast
(D) Middle Ganga plain

Water Resources

Soil Resources

Prerferfiaa & = @1 sl @8 T 2 7
o &g HETH
(A) #reer af w
+B) %8 o GETH
(C) werwm w2 Sl HHIEA
(D) weg T e &1 HEMA
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67. Which one of the following pair is correctly matched ?

Main Economic Activity

Area
(A) Laddakh Cotton Textiles
(B) Dandakaranya Cultivation of Jute
(C) North Bihar Sugar Industry
(D) Royal Seema Tea Plantation
feafafen ¥ @ =97 a1 ster vt 2 7
E] &g arrfife frarsemy
(B) gvzamvg e Y
(C) =uit famn =) 3im
(D) e = ]

68. The correct sequence of population density from high to low in the following States of
India as per 2011 censys IS
(A) Punjab - Bihar — Jharkhand — Uttarakhand
(B) Bihar — Jharkhand - Uttarakhand - Punjab
(C) Bihar - Punjab — Jharkhand - Uttarakhang
(D) Punjab - Bihar - Uttarakhang — Jharkhand

wﬁﬁﬁuﬁfﬁmﬁﬁmmmm 2011 aﬁ.‘tm%aﬂgﬂnﬁww% ?
(A) w18 - g - a1 - seTe
(B) foer-smrave -smmave - tare
(S LT TR oA —
(D) s~ - Serrave - s

69. The methodoiogy followed for poverty estimation by using 61
(A) Uniform Recall Method ( URM) only
(B) Mixed Recall Method (MRM) only
(C) .Both URM and MRM
\CB{ None of the above

“NSSO data in 2004-05 is
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70. Which of the following is not true for National Food Security Act 7
(A) It provides legal entitlement to 67 percent of population at subsidised food
(B) It covers 75 percent of rural population and 50 percent of urban population
(C) Ithas only two schedules which prescribes for issue of price and nutritional standards
of food
(D) Al of the above
t@q@mgzmwﬂ:daﬁﬁaﬁ?m"ﬂamwﬁﬁ% i
Wﬁ?uﬁmmﬁaﬂfﬂﬁqﬂﬂﬁﬁaﬁmm‘m%
(B) ¥® 75 wiewwa wrior SFeEa S 50 it Tedl sEE F sreid e @
(©) ﬁﬁ&mﬁﬁ%ﬁﬁmﬁmﬁﬂﬁmﬁﬁﬁw%waﬁﬁﬂﬁﬁm%

(D) suiea Tt
\‘;yhlaﬁonal Manufacturing Pelicy was introduced by the Government of India in
=~ {A) 2010 (B) 2011
(C) 2012 (D) 2013
e fafiior e T R FR ST R o
(A) 2010 (B) 2011
(C) 2012 (D) 2013\~
;fyThe policy for Special Economic Zone (SEZ) was introduced in the country for the first
time in
(A) 1991 (B} 2000
(C) 2005 \/ (D) None of the above
wre AT 99 (W ) <1 <A el S S 6 A o
(A) 1991 (B) 2000
(C) 2005 (D) T & i3 7

73. What was the Santhal Pargana region called in ancient times ?
(A) Narikhand (B) Man-Varjikah
(D) None of these

(C) Kartasina
STl o B ) o S et 3 R S S e ¢
() wwftr (D) wH A= A
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4, Safa-Hor movement is associated with which tribal community *
74. Sy

(A) Munda (B) Ho

(C) Santal (D) Kharia

arw1-eR et e snfeareh ayem @ gafm 2 7

(A) Fe ) @

(C) daret (D) @fgmn
75. Who among the following is a primitive tribe ?

(A) Kawar (B) Kora

(C) Karmali (D) Korwa

ﬁm%ﬁgaﬁﬁﬁqaﬁﬁnwﬁf%?

(A) e {B_; FIT

(©) Fwreh ) Fan

\T/E‘a//‘Andf’ and ‘oportipi' forms of marriage is related to which tribe ?

(A} Ho (B) Paharia

(C) Munda (D) QOraon

#HE afi ‘W’W@Wﬁv]ﬁﬁ?ﬁﬁmwﬂm%ﬁaﬁﬁ% 7
(A) & (B) warfean

(C) EET\/ (D) 3us

77,/ What was India’s rank at the Rio Para-Olympics ?
(A) 420 (B) 43
(C) a4 DY 301
et - sy & HTT BB 21 7 1y 2
(A) 423
(C) 44 %

(B) 434
(D) 327§
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78.

79.

80.

wWhat was the name of the legendary Ranthambore Tigress that died recently ?
(B) Sonal
(D) Shatrujeet

(A) Machhali
(C) Sherry

i 1 g i fore) T A A T R, A} 7

(D) wrsia

(c) ¥

India’s first armed nuclear submarine is
(A) L.N.S. Tihayu

(B) I.N.S. Virat

(C) L.N.S. Arihant

(D) IL.N.S. Astradharini

oA Y el T WA Tges ©

(A) @r$, wA. wE. frerg

(B) o, w. va. fawe

Q). . . e

(D) 3. €. Th. £ o) el

Project LOON is related to
(A Waste-ManagementTechnology

(B

)

) Wireless Communication Technology
(C) Solar Energy Production Technology

)

(D) Water-Conservation Technology
S o (LOON) Hafere &

(A) smfime-yeH e @

(B) #am = freifia |
& iz 3 e @

(D) wre-Taw refih! &
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g1, Ahe Chalukyan ruler Pulakesin's victory over Harsha was in the year
(A) 612A.D. (B) 618 A.D.

(C) 622A.D. (D) 634 A.D.
T ITHe Telhian 21 g9 W s & ad o
(A) &= 612 (B) ¥ 618
(C) ¥l 622/ (D) = 634
\B:«_*./WE earliest reference of the use of magnetic compass in the Indian seas was by
(A) Marco Polo

(B) Ibn Battuta

(C) Sadruddin Muhammad “Aufi”’

(D) Nicolo Conti

Tt e 1 IR werarT H i o ST e e g A 7

(A) TTERT e
(B) F=1=qm
(C) FewA wErw s
(D) Frriet sich

jS/‘hﬂe first true arch in the Sultanate memorial could be seen in

~ (A) Iltutmish's Tomb (B) Tomb of Balban
(C) Alai Darwaza (D) Quwwat-ul-lslam Mosque
T ARl H20e R Seemaenel T § i & 7
(A) soqafis &1 werer (B) &M =1 Wy
(C) srermé Zeamsn (D) Fq9 T ity
84. /The most orthodox Sufi order was
(A) Chishti (B) Suhrawardi
(C) Nagshbandi (D) Qadiri
f Fzzx el ) Hwer o
() ®) weod
(C) Tt ) W
(D) =afed
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85. Match List— | with List— Il and select the correct angwer using the codes given below the

lists :
#:.?;;sl List—1|
a) Thgru 1) gz;;\;hsat: e
b) Bhil | 2) Himachal Pradesh
c) Gaddi 3) Jharkhand
d) Munda 4) Uttar Pradesh
Codes :
a b c d
(A) 4 2 1 3
B 1 3 4 2
(C) 4 1 3 2
(D) 4 1 2 3
et — | =t g — 11 @ gafera Shifse o gfedt & 99 oy gz w5y s g
g - | e -1
EEENG] Het T
a) =T 1) T
b) e 2) femrast wem
c) T 3) Fgue
d) T ) g
FE :
a b ¢ d
(A) 4 2 1 3
® 1 3 4 2
{CN 4 1 3 2
1 2 3

([_Jy.a

86, Which Constitutional Amendment bifurcated the Combined National Commission for
Scheduled Castes and Scheduled Tribes into two separate bodies ?

(A) 42" Amendment (B) 44" Amendment
(C) 89" Amendment (D) 93 Amendment

gl S iR g S ) EE T S 3 R HEeE & sid 2 e fa
Hafer g 7

(A) 42§ gieA (B) 44 F gwiu=
(C) 89 4 mamyw (D) 934 &MeA ~—



o _!: any Parts, Articles and Schedules Was there in the original Indian Cnnsmutiﬂh
87. ow many o
(A) 22 Parts, 395 Articles and 8 Schedules
(B) 24 Parts, 450 Articles and 12 ScheduleS
(C) 22 Parts, 390 Articles and 8 Schedules
(D) 24 Parts, 425 Articles and 12 Schedules
T St B § R s, sgede ot argg o 7
L&’f 22 9T, 395 F=de 37t 8 Sr{g!
(B) 24 ¥, 450 3rq=z afit 12 g4
(C) 22w, 390 sy 3t 8 I
(D) 24 s, 425 ar=ae 3w 12 g

88. Inwhich Amendment was the evil of defections from the political parties in India enacteq

(A) 52" Amendment (B) 54" Amendment

(C) 56" Amendment (D) 58" Amendment

WA § UeHITa 2eli § actaee s F %ﬁmﬁa%mﬁaﬁﬁuﬁﬂﬁMW%?
(A 52 3 wvites (B) 543 v

(C) 56 d gt (D) 58 9 "y

89. Which of the following is not an vision of 12 Fiye Year Plan
(A) Real GDP growth rate of 8 percent
(B) Agricultural growth rate of 4 percent
(C) Head count ratio of consumption
(D} Al of the above

(A) Smaﬁﬁiﬁ?ﬁ.ﬁ;ﬁﬁwﬁq
(B) 4 wftryra 5y firemrg o

Poverly to be "®duced by 19 Percent points
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90, Ribozymes are
(A) DNA (B) RNA
(C) Proteins (D) None of these
(A) €. T (B) 3., 1.
(Cy W (D) 8 & %

% he foul smell of dead fish is due to the compound
(A) Amino compounds / (B) Aldehydic compounds
(C) Sulphur compounds (D) Nitro compounds

7d woell & frarer areft gy o e 0 wmo e & 7

(A) T i (B) ufeeenfes difirr
(C) wewHt Mt (D) =gy Aifier
92. Non-stick frying pans are coated with
(A) Orlon _{BY Teflon
(C) Polystyrene (D) Polypropylene
- HIEn Feret § iy & g B
(A) ST (B) ewerH
(C) urefieemsh (D) urefraramsfem

93. Which of the following temples was built by the ruler Pooranmal ?

(A) Jagannath temple at Ranchi

(B) Shiva temple at Devghar

(C) Pahari Shiva temple at Ranchi

(D) Bhadrakali temple at Itkhori

T RO % g0 Fefeiaa @ @ fore wfe @ Fafo st e e
(A) Tt fetrg sy wfet
J(Bf % oo firm wi

(C) e furm weret fira A

(D) seart fobrm wgemrelt wiRT

ua—l
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gtrict of Jharkhand

Gs-| w

94, Mahuadanr sanctuary is located in whi@ ) Koderma
(A) Palamu o) L atehar
(C) Chatra

TSR AT TR & e forer 1 2 7
E} e, ® <
' (D) ATAEN
(C) =qu
- nd ?

95. ‘Anjan Dham’ is located in which district of Jharkhan
(A) Gumla (B) Garhwa
(C) Giridih (D) Godda
T am e g e e 7
(A) THeT (B) Tes
(C) fiftdie (D) TE

96. Jharkhand's resident Deepsen Gupta is associated with which sport ?
(A) Archery (B) Basketball
(C) Athletics (D) Chess
wEs art dud 7o 1 e ae @ qergen 2 7
) 7 oing (B) e
(C) uwad (D)

97. ‘Stand-up India' Scheme's purpose is

(A) Toencourage entrepreneurship amon
' ‘ g the SC/STs and
women entrepreneur

(B) Toencourage entrepreneurshi
P among the entre
Preneurs of the BackwardCla:

(D) To encourage entrepreneurship only a

ﬁ&m?&m%w%

mon
9 the women entrepreneurs
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98. The first prize of the National Human Rights Commission has been awarded recently to
which movie ?

(A) Pink
(B) Black and White
(C) Red and White
(D) Black
memwmiwmﬁﬁﬁmfmﬁﬁw%?
o F |
(B) =¥ WIS AT5E
(C) s uve arge
(D) =

99. Eradication of all types of social discrimination comes under which generation of
x,/ Human Rights ?

(A) First generation

(B) Second generation

(C) Third generation o

(D) Fourth generation 1//

Hmm%ﬁmﬁfﬁﬁﬁaﬁwmﬁ%ﬂﬁfﬁa@% et s 8 7

(A) TEei

(B) g il
(C) et et
(D) =neft iz

100. Cartajena protocol is related to
(A) Biosafety agreement
(C) Ozone depletion

(B) Pollution
(D) Climate change

IS GeTHTe &1 G 2
(A) S g gugd @ (B) wgwI #
(C) s axer & () ey afEd @



